ZEKE 202-090

ASSEMBLY INSTRUCTION / INSTRUCTIONS D*ASSEMBLAGE

M6*30

b

1pcs/unités

M6*45

!')i)llmllllIlllll))llll))lll))lllll)lll‘

4pcs/unites

M6*40

e))))))))))))))))))))))))J)))))))))))))))))

2pcs/unites

H

M6*16*1

5pcs/unites

A

1pc/unites

M6




STEP 1/ETAPE 1

Only tighten 90%
Serrez seulement 90%

STEP 2/ETAPE 2

Only tighten 90%
Serrez seulement 90%

STEP 3/ETAPE 3

Page 2 of 2



STEP 4/ETAPE 4

STEP 5/ETAPE 5

Fully tighten 100%
Serrer completement a 100%

Page 3 of 3



	页 1
	页 2
	页 3

